quzxﬂ/\x W?S‘?‘OMH ~qPIA £ ||

wio~vdp Ay ?“TWPUE]' b

“ONTUAR 90 Yopy | e e 7on)
P R ey T *’"\J( rwp ¥ T

A R o5 ] v ey (e =S

o D (9
. “F,W/\* "OSI“ﬂH
R Tl
2 UM/ 2% =k
PPN PEAN
s = -0
/A ¥ B /AN T g A
2 = Tugeag SUWN] | oS
?WF Vuwj Twnt ]
rw = -PDW
Tw =S w
W VYW = M : )’0“’*} Bl R L,
2w = JAW P = PANW (= w S MG (o
Yo )0 me‘ . xow X0 — U\
O Q e
(0o hgs * (vor, wA/ 7° C - QS Ty
fc= :
Yw =-nw = vavw (= Yw = rewdg (=
@] @) Y

(o - Teoaggll, &< oy

. G Y o7 »mer



Mg o (A/vw + rlu-) £+ ™M (2A”“+ 5 AJ‘@&)‘)

WMauso, 2V

=N _ma [2(\,\/4,* < r\S'@i;") = 0 — Ll (A"’“* *A‘é")

Mwaq Sow 2V Mwact ¢\
— — HNQ1 So, = \// 4 '
SY A : ( T ™M (Avar +de)
I Nvat + Asal- M v S
/’G{ : n_‘r-if’ = o’

@.{Y_? Mne, s04 = <2220 & 324 + lxAbo - N4 oﬁ_mpa
Mz 250 +53%8 = 58,5 g . mot™

= 4o mﬁM‘A = QO»-’."DJS - o™

(\ﬂl’a'i" - QOO‘E?./LO*R _S (W\2 Aot m,l:aZDO‘-w“}"{
Aa-—: "-?;63&@"? St amsl”

A o~ = N&o xae=? S st amel™

V= 2,0l = 2,040 m’

ma - /”hl)t 2}'0/‘-‘9—3 (aovw"; z,oe,us"g

3 e (S 008403 + €32 })
2x5; 0R A" + Mulso S35 % 20

,ﬁ“L: 2,0. 20" S

EC-) Divmimidion it aolim -

Gna = ™™ "m%_ -l my [ g T
e (Aw I"AQJ +m [GAnes + Asor-)

G wrolake denc Q envr YO /'.._...
Qe e m& a ¥,

Done A V durmomac e 'Loafs, o O augrene W7 .

Sodr G =G+ WXL 4@ m S .
100




